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I. Vocabulary:

A. Fill in the blanks with the words given. There is one extra word.

distract - efficiently - injury - react - proud - region - mainly - probable - procedures
\. Pacific ocean is the most ..........cc.cocouuueee area for today's earthquakes .
Y. Too much movement can .............ccccoruueeee. your listeners.
. Y. The news is very shocking. We don't know how he is going fo..........cccocco.c....
Y. You should always wear warm clothes here. It's really cold in this....................
Q. The managers in this office are................ men. There are few women.
¢. He explained the ...........cccccocc...... for shutting down the computer.
V. When one has a high opinion of himself, he is very .....................
A. They were out of team because of their knee........................ .
B. Match the definitions in column (A) with column (B). There is one extra word in column (B).
A B
q. Give all attention to sth - f"’-x'b'hel
Y \+. Move sth with noise ' .srr.‘OOT Y
) ) c. joint
). Able to change without breaking d. rattle
\Y. A belief in your own ability e. firmly
\Y. Without any sudden movement f. concentrate
\Y. Part of the body where two bones meet g. confidence
C. Choose the correct answer.
\Q. T could hear him ................ his fingers on the table
a. leaning b. crossing c. tapping d. lowering
\#. Your mother's birthday celebration is a happy family...........cccceuuuee..e.
a. occasion b. posture C. pause d. presentation
\V. Before exercising, you should................. your muscles.
Y a. aerobic b. stretch c. function d. protect
YA. No one really knows the reasons for the ............ccccco....... of dinosaurs.
a. increase b. femperature c. extinction d. embarrassment
Ya. We cannot really .................... the exact area where strong shocks will happen.
a. ignore b. trap C. compare d. locate
Y+. You should write the answer in the .................. provided.
a. space b. partner c. store d. mood
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) D. Fill in the blanks with the proper words of your own.
N Y\. We can save energy and money if wer - - - - - - bottles, papers, etc..
YY. The layer of the Earth that we live on is called the c - - - - .
YY. Material burnt to make energy is called f - - -.
v | YY. A group of people watching or listening to something is called thea - - - - - - - .
YO. An event needing immediate action is callede - - - - - - - -
Y#. The general weather of a place over a period of time is called cC------ .
II. Grammar: A. Choose the correct answer
YV. He didn't feel like going to gym ................. he was too tired.
a. while b. when c.as d. whether
YA. The teacher made the students ................ notes during his speech.
a. took b. take c. taking d. to take
v YQ. In some countries, people............cccccou..... trash are punished.
a. producing b. produce c. produces d. produced
Ye. It was ... terrible weather that we spent the whole day indoors..
a. so b. too c. such d. enough
Y\. The speaker permitted the students ................ their books.
a. open b. opened C. opening d. o open
YY. I learned to speak French......................... Twas Y.
a. since b. while c.as d. when
B. Combine the following sentences with the words given in parenthesis.
YY. Exercising is a good way to feel happy. You may do it alone or with your friends. (whether)
e | e s et R R e s e
YY. You can make more eye contact. You should know your speech so well. ( by )
YQ. I haven't got much money. I cannot buy that car. (enough)
Y'#. The teacher spoke very quickly. The students could not understand him.(so)
y C: Rewrite the following sentences with the reduced form of the underlined parts.
YV. The scientists are concerned about the problems which are caused by human beings.
YA. The energy which comes from coal and oil is used to heat and light our houses.
A D. Put the words in the correct order to make a meaningful sentence.
YQ. too / were / help / the man/ most people / frightened / to.
Y +. healthy living / should / regularly / in / anyone / exercise / interested
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IV. Sentence Function:
Match the items in column (A) with the appropriate phrases in column (B) to make meaningful
sentences. There is one extra item in column (B).

A B
Y). After an earthquake.... a. stop in a safe area.
YY. When you ask for help from listeners.... b. a change in general weather patterns.
YY. When you exercise.......... c. fix heavy things to the wall.
YY. During an earthquake........ d. have respect for your students.
Y0. Climate change is................... f. you can actively involve them .
Y#. Good choice of clothing helps you....... g. clean up dangerous chemicals.

h. your body releases endorphins

V. Reading Comprehension:
A: Sentence Comprehension: Read the following sentences and choose the correct choice.

YV. It is thought that V++ shocks each year can cause destructions when they happen in a
populated area. Luckily, most of the destructive earthquakes occur in less populated places.
If the V++ earthquakes took place in a crowded area,........................ .

a. a few buildings would fall on many people. b. a lot of people would survive.

c. they would cause damage, injury and death d. nothing serious would happen

YA. Since your heart can not lift weights to get stronger, it relies on you to do aerobic
exercise. We understand from this sentence that ... .

a. we are too much dependent on our heart.

b. our heart is dependent on us to be strong.

c. weight lifting needs strong heart.

d. by aerobic exercise we breathe better.

YQ. Controlling your fear and practicing skills in public speaking can bring you success. In
other words, speaking in public .............. .

a. is a skill that you learn with practice b. can be practiced nervously

c. can be a successful skill without practice d. controls your fear and words

Q-. Scientists think that as we use more gasoline and electricity, the Earth is going to get
warmer. This sentence means that............cccccooooueruneene.

a. we are not responsible for global warming

b. global warming happens little by little

c. we don't need to be worried about the Earth

d. global warming happens all of a sudden
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B. Cloze passage: Fill in the blanks with the words from the list below.(One word is extra.)

forecast - mechanism - possibility - light - entirely - national - reality

Earthquake prediction is a future (Q))................... . No area is free of earthquake
((A) 1) JE— . Just as the weather organizations (OY)...................... floods and strong
storms, the (OY)............ earthquake information centers may one day predict
earthquakes. This may someday become a (QQ).................... , but after much more is
learned about earthquake (Qf)..................... :

C: Reading Passage( ) ): Read the following passage and match each paragraph with one of
the Headings below. Write the (A ,B,C, D) in front of the numbers of the paragraphs.
(There is one extra heading.)

Headings:

(A) Fast walking brings more physical fitness.

(B) People can do different kinds of physical activities.
(C) All people like to do expensive physical activities.

(D) Walking is an available physical activity for all people.
(E) Group physical activities have more fun.

OV Among many enjoyable activities to take part in, most doctors advise the simple
act of walking. It is readily available, it is cheap, and it works. Actually everyone knows
how to do it. You can do it alone, with a friend or a group. It has a low risk of injury.

OA.............. Jogging (walking quickly) certainly is an acceptable form of exercise. It is good
to know that you burn just as many calories walking a mile as you do jogging a mile. You
could clearly jog more in the same amount of time and therefore burn more calories and
get a greater degree of fitness.

A T Some people find out that walking out with a friend or a group is more fun than
doing single activities. It can be more enjoyable. You and a friend at home or at work can
do a walking program together.

E O e, There are a lot of activities at health clubs from aerobic exercise, fo swimming,
and water aerobic... The list is actually endless. Some people enjoy competitive sports
such as handball and tennis. Others enjoy weight lifting. Do you like to ski? How about
cutting the grass?
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D: Reading passage ( Y ): Read the following passage and choose the correct answer.

One of the environmental problems that are worrying me most is the pollution of
the sea. I think that the pictures we saw recently on the TV news during Christmas
holidays, still exist in our minds; sea pollution is mostly caused by releasing petrol or oil
into the sea from big ships. The fact that every day a big part of the sea is destroyed
from unlucky accidental happenings which occur all over the world should be a global
concern.

We can predict that in half a century, there will be no part of the sea without
pollution. As a result, fish which is one of the healthiest foods will be no longer suitable
for people. In addition, many kinds of the seas' vital and natural resources will
disappear. People won't be able to swim and entertain themselves at sea and so on.

Some possible ways to stop these misfortunes (unwanted happenings) to take place
are: ) careful control of ships which carry dangerous things, Y) all factories must clean
their unwanted materials which are near the sea, and Y) research must be done by
scientists to find ways for cleaning the polluted parts.

#). The main idea of this passage is.........cccccccoererrrerrunnnee.
a. the pollution of the sea
b. environmental problems
c. unwanted materials
d. pictures shown on TV

#Y. According to the passage, in half a century there will be no..............ccccocoucc... in seas.
a. hatural food b. accidental events
c. clean areas d. natural resources

#Y. The underlined words 'these misfortunes’ in the last paragraph refers to....................
a. not being entertained by seas b. the accidents which can destroy seas
c. carrying materials to seas d. disappearance of all natural resources

#Y. The phrase 'vital' in paragraph Y is closest in meaning to.............c............
a. entertaining b. necessary c. polluting d. separated

***True or False
#0Q. Factories must clean all the polluting materials all over the seas. O True [OFalse

##. Sea food like fish wouldn't be as suitable and healthy as always. O True OFalse
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